Bbikntoyatenb KoHUeBol, nyteBo MuHck 1.80447584780 www.fotorele.net

www.tiristor.by pagnogetanu, snektpoHHsle komnoHeHTilGREyWell 7atut.b
tel.+375 29 758 47 80 MTC, KaTanor, onncaHme, TexHmyeckme, xapakTepuctuku,

s

e

A\

MICRO SWITCH™

Miniature Industrial Limit Switches
SZL-VL Series

Datasheet



MICRO SWITCH™ SZL-VL Series
Miniature Industrial Limit Switches

The SZL-VL Series miniature-type limit switch is specially designed for use in applications where limited mounting
space is available. These switches are suitable for OEM machinery that requires a rugged and reliable limit switch
capable of being mounted in space restricted applications.

Its special design provides ease of wiring with ample wiring space, and has a special pre-molded flexible cable gland
for fast and efficient wiring termination. The VL Series can fit in areas that other limit switches cannot and is capable of
switching up to 5 A current.

What makes our switches better?

o0 MICRO SWITCH™ SZL-VL Series has gold-plated silver contacts
that allow the unit to switch logic level (low amperage) loads or
power level (up to 5 A) loads

o Split housing design provides easy access to terminals making
installation in smaller spaces less stressful

0 Zinc die-cast body with durable plastic cover provides a rugged,
easy access design for ease of installation

O Modular actuator head design allows for quick configurations to
meet a variety of application needs

EASY TO INSTALL « MODULAR DESIGN
GLOBAL AGENCY CERTIFICATIONS

2  sensing.honeywell.com



Features COMPACT
and Beneﬁts The SZL-VLl’s 102 mm x 28 mm x 25 mm [4 in x 1.1 in x 1 in] switch body allows

the device to be potentially used in applications where space is limited.

Big Performance. Small Package. J

LOWER CABLE STRESS

The Series features a pre-installed cable gland to help maintain cable stress at a
minimum.

MANY APPLICATIONS

SZL-VL Series’ 5 A capability and two-circuit double break electrical
structure provides for use in a wide range of applications. Multiple actuator
options promotes the SZL-VL Series’ application flexibility.

Potential Applications
INDUSTRIAL AND TRANSPORTATION

¢ Determines entrance and exit gate position in parking structures

e Senses position on automated storage and retrieval systems

¢ Monitors position for packaging and case sealing machines

¢ Provides up-and-fold ramp cutoff and roll-stop cutoff on wheelchair lifts in vans
and/or buses

¢ Adjusts outrigger deployment position and up-and-down hydraulic pump cutoff
on scissor lifts

¢ Indicates open/closed position for industrial overhead doors

¢ Performs position sensing on packaging, palleting, and printing equipment

sensing.honeywell.com 3



SZL-VL Series

Table 1. Specifications

Characteristic Parameter

Description miniature industrial limit switch

Series name VL Series

Sealing P64

Vibration 55 Hz at double amplitude of 1,5 mm [0.060 in]
Shock 10 g max.

Operating temperature

-20 °C to 60 °C [-40 °F to 140 °F]

roller lever, adjustable roller lever, adjustable rod, top plunger, cross roller plunger,

Actuat

cluators plastic rod with coil spring, wobble with coil spring, roller plunger
Circuitry 1NC/1NO SPDT; double break
Termination screw terminals with cable gland

Cable gland wire diameter

6 mm to 9 mm [0.237 in to 0.354 in] round,
9,4 mm [0.370 in] flat

Contacts gold-plated silver alloy
Amp rating 5.0A/0.4 A

Supply voltage 250 Vac max./125 Vdc max.
Approvals UL, cUL, CE

UL file # E150950

Mechanical life

up to 10 million operations

Housing material

zinc diecast/plastic

Availability

North America, Asia-Pacific

SZL-VL LIFE CURVE

SZL-VL CIRCUITRY

Life curve, resistive load s 10,
(AC 240VC cos ¢ = 1) No@_i_o ; O—i—@NO
1 ' 2
@ 10 |, NG @—i—.—._i_@ NG
£ . .
L
2 5
@ 4
c
o)
T 3
@
o
o o \
k]
o 1 \\
2
0.3
0 10

4  sensing.honeywell.com



MICRO SWITCH™ Miniature Industrial Limit Switches

O.F. ® Operating force
R.F. ® Release force

ORDER GUIDE/RECOMMENDED LISTINGS Al DN AU
O.T.  Overtravel
Table 2. Product listings DT. ¢ Differential travel
Part Number Actuator Type O.F. (max.) R.F. (min.) P.T. (max.)
SZL-VL-A
Side Rotary 5,88 N [1.32 Ib] 0,49 N [0.11 Ib] 20° 75° max. 10°
Roller Lever
SZL-VL-B
Side Rotary 3,35 Nto 7,84 N 0,21 Nto 0,49 N o0° 75° max. 10°

Roller Lever Adjustable [0.751bto 1.76 Ib] [0.046 Ib to 0.11 Ib]

wn
< Ul
n
<
I
(@)

Side Rotary 20N1t07,84 N 0,12N1t0 0,49 N - e .

Rod Adjustable [0.451bto 1.76 Ib] [0.026 Ib to 0.11 Ib]
SZLVLD
Top Plunger 8,83N [2 ] 1,47 N [0.33 Ib] [g.’gég?ﬂ ¢ gsTnTmin. [g_’gzrgri:]
sV
Cross Roller Plunger 8,83N 2 Ib] 1,47 N [0.33 1b] [;jSG”ST;] 0 gsn:nTmin_ [gjgzr;?]]
SZLVLF
l WOb%ii[ Spﬁisfgc "9 ossnp2om) B [?(.)1;::2] [0.722 :E]m min. B
SZLVL-G

Wobble - Coil Spring 0,88 N [0.20 Ib] - [:13(?1 r;?;] [0.722 m]m . =

A
SZLVLH
ﬁ Roller Plunger 8,83N [2 ] 1,47 N[0.33 Ib] [;jgergri:]] 0 QSTnTmin_ [8_’52222]

sensing.honeywel.com 5§



SZL-VL Series

DIMENSIONS mm [in]

Figure 1. SZL-VL-A Figure 4. SZL-VL-D
41,2 [1.62] @ 0.28 dia. 10.2
18 dia.x7 stainless steel plunger [0,40]
nylon roller 36,2 [1.43] T 1.5 max [0312] —
100\'\'\3)( (Roller can be rotated — )
1 and locked in any
position through 360°) ™ T
[8%] (2) @4,1 mm [20.16 in] 26 5
M4 arm fixing nut M4 arm H [ mounting ho‘es\ [1.04]
- fixing screw —
Tmpoagonroes | || |f 155 (2M5 P08 5
(2) @4,1 mm [20.16 in] s f 073 ;)Dgez e
mounting holes 3 = .28 in deptt (2) M5 (P=0,8)
["- I [0.49] @ {]» ] mounting holes M3x6 20,4 [0.80] tapped
%&@ cover screw o (7)0.28 in depth
56 mounting holes
4 [0.
cover screw i 204 [0.50) 64 @2 [26542]
M3x6 221] [2.52] '
(2) M5 (P=0,8) (2) M5 (P=0,8)
tapped tapped
- " mounting holes T /’ mounting holes
]l
2-M3x23 — m 2-M3x23 S Z
cover screw T cover screw 14
[0.55] [0.55]
i ]
21[0.83
[ L L1 75030 21[0.83] | 75030
054
28[1.10] £ 25[0.98] 28 [1.10]
38,1[1.5] 2510.98] (Standard type)
(Standard type)
Figure 2. SZL-VL-B Figure 5. SZL-VL-E
47,7[1.88] 12.5 dia.x3.8 10,2
gfdgﬁab\e length 18 dia.x7 nylon roller 42,7 [1.68] stainless steel roller 0.40

33,5[1.32]

Roller can be rotated
and locked in any

position through 360°)  E— 28,5[1.12] 14‘8
M4 arm fastening ]1 [0 58]
plate screw with JI 10,2 :
h I hol [0.40]
exagonal holes = (2) @4,1 mm [©0.16 in] a8 4
= mounting holes — [1.5] ———\ [0.16]
Arm fastening plate 1 18,5 \ I[ I
12,5  Mounting metal [0.73]
[0.49] /6

PT 1.5 max

(30-70) o7 20'maX

==
.

(2) @4,1 mm [@0.16 in]
mounting holes { |
TN T : B, © 4 4*
" = 2) M5 (P=0,8)
M6 arm fastening (é) M:d(P’O'S) M3x6 ga:oped( )
plate screw with Japped COVEer Screw — 20,4 [0.80] -
h I hol (7) 0.28 in depth —— (7) 0.28 in depth
M3x6 56 exagonal holes mounting holes 56 mounting holes
covxer screw 221 64 [2.21] 64
[2.52] [2.52]
(2) M5 (P=0,8)
20 1 tapped - | 4 (2) M5 (P=0,8)
2-M3x23 [0.08] |EH _L—T mounting holes - tappeq
cover screw, :E 14 F N jc” _|_—1 mounting holes
E% [0.55] 2-M3x23 k. |
{ 1 cover screw 14
7,5(0.30] (0.59]
mOEON
28[1.10] F521085” 21[0.83] L L1 751080
15,1
46,4[1.83] (Standard type) 28 [1.10] [0:59]

25 [0.08] (Standard type)

Figure 3. SZL-VL-C HEAD ADJUSTMENT: -A, -B, -C

550022] Sl Actuator heads can be rotated in 90° increments on
o max 02,6 [20.10] rod side rotary models (-A, -B, 0C models only).
P12 and locked in any
(Roller can be rotated e e’
position through 360°)
o
.4
Adjustable length of rod ’;"4 rod fastening plate 0:40]
(30-118) /" (screw with hexagon holes)
(2) @4,1 mm [@0.16 in] % Rod fastening plate G\‘ 185
mounting holes \ 12,5 | Rod mounting metal [0.73]
il [0.49]
St HEE
M6 mounting rod (2) M5 (P=0,8)
M3x6 fastening screw with (lappedi
Cover soran hexagonal holes (7) 0.28 in depth
cover screw o mounting holes
64
2.21] 12.52]
(2) M5 (P=0,8)
_@1 { tapped
IZY = _|—T mounting holes
55! 14
cover screw h ,[0.55]
21[0.83] ~—+7,5[0.30]
— mi
- 20,4 [0.81]
28[1.10] 25'10.98]
249 1.77] (Standard type)

6  sensing.honeywell.com



MICRO SWITCH™ Miniature Industrial Limit Switches

DIMENSIONS mm [in]
Figure 6. SZL-VL-F

PT 50 mm max.

41,5
[1.634]
100 +1,5
[3.937 +0.059]
(2 @4,110,2
[(2) @0.161 +0.008]
mounting holes
M3x6 56 +0,3
cover screw [2.205 +0.012]
2-M3x23
cover screw,
21 [0.827
28 [1.102]
Figure 7. SZL-VL-G
PT 30 mm max.
515
[2.028]
100 +1,5
[3.937 +0.059)]
(2)@4,1 £0,2
[2) @0.161 +0.008]
mounting holes
M3x6
cover screw 56 £0,3
—_— [2.205 £0.012]

3108271

28 [1

102]

10,2
o3 [0.402]

[©0.188]

Nylon rod

25,8
[©0.228]

|
1 [ -ﬁ\
‘ 2-M5 (P=0.8) tapped
z0s o 7.276 in depth
mounting holes
[2.52]
C 2-M5 (P=0.8) tapped
_L—"T mounting holes
14
; 0.551]
7,5 0,2
L[J.g’g‘a [0.295 0.008]
25 [0.984]
10,2
[0.402]
1,2
[©0.047]

Stainless steel wire

4
[0.157]
|
AT
| 2-M5 (P=0.8) tapped
20.410803] 7 .276.in depth
mounting holes
[2.52]
- 2-M5 (P=0.8) tapped
_L—"T mounting holes
14
; [0.551)
7,5+0,2
Do [0.295£0.008]
251[0.984]

Figure 8. SZL-VL-H

12,5 dia.x3,8
stainless steel roller

PT 1,5 max

(2) @4,1 +0,2
[2) @0.161 +0.008] 8
mounting holes [1.496]
M3x6
cover screw
56 +0,3
[2.205 +0.012]

2-M3x23
cover screw

—Hte

I

21[0.827)

281[1.102]

20,4 [0.803]

"H‘H’U

14—

2-M5 (P=0.8) tapped

7.276 in depth
mounting holes

64

[2.52)

2-M5 (P=0.8) tapped
T~ mounting holes

LR

14
[0.551]
i

~ 15,1 —
[0.594]

25 [0.984]

7,6 0,2

[0.295 +0.008]

sensing.honeywel.com 7



SZL-VL Series

ADDITIONAL INFORMATION WARNlNG

The following associated literature is available on the Web at PERSONAL INJURY
sensing.honeywell.com:

e Product installation instructions DO NOT USE these products as safety or emergency stop

devices or in any other application where failure of the

* Product range guide product could result in personal injury.
* Product nomenclature tree Failure to comply with these instructions could result in
e Product application-specific information death or serious injury.

— Application Note: Application in Injection Molding Machine (IUM)

AWARNING
MISUSE OF DOCUMENTATION

e The information presented in this product sheet is for
reference only. Do not use this document as a product
installation guide.

e  Complete installation, operation, and maintenance
information is provided in the instructions supplied with
each product.

Failure to comply with these instructions could result in
death or serious injury.

WARRANTY/REMEDY

Honeywell warrants goods of its manufacture as being free of
defective materials and faulty workmanship. Honeywell’s standard
product warranty applies unless agreed to otherwise by Honeywell
in writing; please refer to your order acknowledgement or consult
your local sales office for specific warranty details. If warranted
goods are returned to Honeywell during the period of coverage,
Honeywell will repair or replace, at its option, without charge those
items it finds defective. The foregoing is buyer’s sole remedy
and is in lieu of all other warranties, expressed or implied,
including those of merchantability and fitness for a particu-
lar purpose. In no event shall Honeywell be liable for conse-
quential, special, or indirect damages.

While we provide application assistance personally, through our
literature and the Honeywell website, it is up to the customer to
determine the suitability of the product in the application.

Specifications may change without notice. The information we

supply is believed to be accurate and reliable as of this printing.
However, we assume no responsibility for its use.

8  sensing.honeywell.com



BbikntouaTenb KoHueBow, nyteBot MunHck 1.80447584780 www.fotorele.net
www.tiristor.by pagrnogeTtanu, 371eKTPOHHbIE KOMIMOHEHTHI,

email minsk17@tut.by , tel.+375 29 758 47 80 mTc, kaTanor, onvcaHue,
TexXHU4Yeckne, XxapakTepucTuku,

datasheet, napameTpsbl, MapKkrpoBka,rabapuntel, $OTO, AATALLUT,

Find out more

Honeywell serves its customers
through a worldwide network

of sales offices, representatives
and distributors. For application
assistance, current specifications,
pricing or name of the nearest
Authorized Distributor, contact
your local sales office.

To learn more about Honeywell's
sensing and control products,
call +1-815-235-6847 or
1-800-537-6945,

visit sensing.honeywell.com,
or e-mail inquiries to
info.sc@honeywell.com

Sensing and Control

Honeywell H()neywe“

1985 Douglas Drive North

Golden Valley, MN 55422 002389-1-EN 1L50 GLO
June 2014

honeywell.com Copyright © 2014 Honeywell International Inc. All rights reserved.



BbikntoyaTens koHueBou, nyteBon MuHck 1.80447584780
www.fotorele.net www.tiristor.by pagnoperanu, anekTpoHHbIe KOMMOHEHTbI
email minsk17@tut.by tel.+375 29 758 47 80 mTC

KaTtanor, onncaHue, TexHn4eCckue, XxapaktepucTtuku, datasheet, napamMeTpbl, MapKMpOBKa,FaGapMTbI, q)OTO, AaTalluT,




2 ]pROsima

EKF e

NACIMOPT
KoHueBoii BbIknto4aTeb cepum
TZ-8 EKF PROxima




1. HA3HAYEHME

KoHuesbie (nyTesbie) Boiknoyatenu TZ-8 EKF PROxima npepHa3sHayeHsl ana
NPUMEHEHUA B 3NEKTPUYECKUX LENAX YNPABNEHUA, CUTHANM3ALMM U KOHTPONA
OTHOCUTENLHOr0 MONOXEHNA NOABUXHbIX YaCTe! MexaHU3Ma B NPOCTpaHCTBe.

Homenknatypa npusesena B Taénuue 1.

KoHuesbie BbiknioyaTenu cepum TZ-8 cootsetcTaytoT FOCT IEC 60947-5-1-2014.

2. TEXHWYECKMNE XAPAKTEPUCTUKKN

TZ-8104
CepuA BLIKNIOYATENA KOHLIEBOrO
KoHcTpykTUBHOE MCnONHEHNe:
104 — pbiyar ¢ ponukom;
108 — pblvar ¢ pOAMKOM, Perynupyemslit no AnuHe;
111 —TonkaTens;
112 - TonkaTenb C PONUKOM.
Ta6nmua 1
Aptukyn
128104 KoHuesoii BuiknioyaTens TZ-8104 EKF PROxima
128108 KoHueBoit BbikntoyaTens TZ2-8108 EKF PROxima
28111 KoHuego#t BbiknoyaTens TZ-8111 EKF PROxima
28112 KoHuesoii BbikntoyaTens TZ-8112 EKF PROxima




OCHOBHble TeXHUYECKME XapaKTepucTuKWU NpuBejieHbl B Tabnuue 2.

Tabnuua 2
3unayenne
i 28104 | 28108 | 8111 | w8112
Hi 10K, In, A 5
Howm. HanpaxeHrue nsonaumu, Ui, B 660
HomuHanbhan yactota, My 50
3:5:3:::;;:“ W3HOCOCTOM- 500000
pbivar ¢
1 pbivar | ponukom,
Tun npusoga cponu- | peryaupy- | Tonkarens | 1O ETENE
KoM emblii no € ponnkam
ANUHE
Dukcauua CamoB03BpaT pblyara
Cevenve nzonknmaemorn npoo- Ho25
LIHVKE, MM
CreneHb 3awmTbl 1P65
Knumatuyeckoe YXn2
KoHTaKkThl NO+NC
Monoxekue cpadaTbiBaHnA 20 [ 200 [ 15mm [ 15mm
Macca HeTTo, o | s | 1 [ 3




3. TABAPUTHBIE PA3MEPbDI

3
363
162

10,2

| S

=

203)| =

b 2

2

3

S

2|

KRB

15,2

269 |

Puc. 1 Fa6apuTHble pa3mepbl KoHUEBOrO BbiktoyaTensa TZ-8104 EKF PROxima

@18x6,2

479
42,908
335:0,8

28,5:0,8

=
~

*
B

639

15,7|

ol

Puc. 2 FaGapuTHble pa3mepbl KOHLEBOr0 BbikntovaTens TZ-8108 EKF PROxima

4



X

17,8

63,9

Puc. 3 TaGapuTHble pa3mepbl KoHLeBOro BbikntouaTena TZ-8111 EKF PROxima

360°

C ) oas 02

63,9

16,7

Puc. 4 FaGapuTHble pa3mepbl KOHLEBOrO0 BbikntovaTens TZ-8112 EKF PROxima

5



4. 0COBEHHOCTM 3KCMJIYATALIMUA U MOHTAXA

MoHTax v noaknioyeHne KoHuesoro sbiknioyatens TZ-8 EKF PROxima aonxHb!
0CYLEeCTBAATLCA KBANM UL NEKTPOT oM

BHUMAHME! Bce pa60oThbi o MOHTaXy, NOAKMOYEHNIO ¥ HACTPOIIKe HEOOX0AN-
MO NPOBOAUT NPK OTKMKHYEHHOM NUTaHUH!

Mpn MoHTaxe Heo6X0ANMO YCTaHOBUTL BbIKNKOYATENb HA OCHOBaHME, CHATL
KPbILLKY, MOABECTY NPOBOAA YEPE3 repMOBBOA (CanbHUK), HAAETb KPbILLKY, TaK-
e Heo6X0/UMO NPOBEPUTL COOTBETCTBUE PE3MHOBLIX YNNIOTHAKLINX Konel| ce-
YeHUI0 1 MapKe NOAKNKYAEMOro KaGens, 3aTAXKY BCeX GONTOBbIX COEAMHEHUH
rubkux ceAzei.

KoHuesble (nyTesbie) BoikntouaTeny TZ-8 EKF PROxima 3awmuieHbl 06onoykoi
OT NonaaaHnA B HUX NOCTOPOHHUX NPEAMETOB, OT Cy4ailHOro NPUKOCHOBEHMA
K TOKOBE/YLUMM YaCTAM.

5. KOMNJIEKTHOCTb
1. Konuesoi (nyTesoi) sbikntoyatens TZ-8 EKF PROxima — 1 wr.;
2. MacnopT— 1 wr.

6. TPEBOBAHUA BE30MACHOCTH

PeMOHT 1 06cnyXuBaHue BoIKOYaTENeR AOMKHbBI OCYILECTBAATLCA KBANNU-
LVPOBAHHBIM NEPCOHANOM.

BHUMAHWE! Bce pa6oTbl N0 MOHTaXY, NOAKNOYEHMIO U HACTPOIiKe HE06X0aM-
MO NPOBOAUT NPY OTKMKOYEHHOM NUTaHMH!

KoHuesble (nyTeBble) BbikntoyaTenu TZ-8 EKF PROxima umetolume BHelwHne
MeXaH14Yeckue NoBPeXx/AeH!A, 3KCNNyaTUPOBaTh 3anpeLLeHo.

7. OCIY)XXUBAHUE

7.1 Mpu TexHu4eckom 06CNyXNBaHUM BbIKNtoYaTeneil cepun TZ-8 Heo6xoanumo
cobniopate «[paBuna TEXHUKM GE30MACHOCTU U TEXHUYECKOW IKCMIyaTauuu
3NeKTPOYCTaHOBOK NOTpeGuTenein.

7.2 B 06bI4HbIX YCNOBUAX IKCMNyaTaLMu A0CTAaTO4HO 1 pa3 B 6 MecALieB npoBo-
JMTb BHELLHUIA 0CMOTP BbiK/lO4aTENei.




8. TPAHCMOPTUPOBAHUE U XPAHEHUE

8.1 TpaHcnopTupoBaHue BbikIoYaTenei cepun TZ-8 MOXKET OCYLLECTBNATLCA
NoGbIM BMAOM 3aKpbITOr0 TPAHCMOPTa, npeaoxp
YNaKoBaHHbIX U3/IENINAA OT MEeXaHU4eCcKUX BO3ACNCTBMIA M BO3GICTBYIA aTMOC-
(hepHbIX 0CaAKOB.

8.2 XpaHeHue BbikntoyaTenei cepun TZ-8 JONKHO OCYLIECTBAATLCA B YNaKoB-
Ke MPOU3BOANTENA B 3aKPbIThIX NOMELLEHUAX NPU TEMMEPaType OKpyXatoLlero
Bo3ayxa 0T -25°C o +50°C v oTHOCUTeNbHOI BNaxHOCTU He Gonee 98% npu
+25°C.

8.3 YTunusupyoTcA ¢ 06bI4HBIMK GbITOBBIMY OTX0AAMU.

9. TAPAHTUA U3rOTOBUTENA
9.1 U3roToBUTENb rapaHTUPyeT COOTBETCTBUE BbikNoyaTeneil Tpe6oBaHUAM
[OCT IEC 60947-5-1-2014 npu coGnioAeHnn NnoTpe6UTENEM YCNoBHiA aKcnayaTa-
UMM, TPAHCMOPTUPOBAHNA U XPAHEHUA.
9.2 FapaHTUiHBI CPOK IKCNNyaTaLuUK, UCHUCNAEMbINA C AaTbl Npodaxu: 5 neT.
9.3 apaHTHiiHbIii CPOK Xp ue I ¢ AaThbi Np AcTBa: 5 net.
9.4 Cpok cnyx6bi: 10 ner.

10. CBUAAETEJIbCTBO 0 NPMEMKE
U3nenna cooTBeTCTBYIOT TPeGOBAHNUAM TEXHUYECKOA AOKYMEHTALMW W npy-
3HaHbl FOAHBIMM K 3KCRAyaTaLum.

LLITamn TexHuyeckoro KOHTpONA u3rotosuTensa

[laTa npoussoacTBa «___» 201 r.

11. OTMETKA 0 MPOAAXE
[laTa npogaxu «___», 201__r.
Moanuck npoaasua

MNeyvaTb pupmbl-npogasua M.I.



BbikntoyaTens koHueBou, nyteBon MuHck 1.80447584780
www.fotorele.net www.tiristor.by pagnoperanu, anekTpoHHbIe KOMMOHEHTbI
email minsk17@tut.by tel.+375 29 758 47 80 mTC

KaTtanor, onncaHue, TexHn4eCckue, XxapaktepucTtuku, datasheet, napamMeTpbl, MapKMpOBKa,FaGapMTbI, q)OTO, AaTalluT,




